normalized X?

107

1

< X2/ ndf >

< X2/ ndf >

0

[ normalized x? probability |

0.06!

0.05

0.04]

0.03

0.02

Entries 214464

Entries 216606
Mean 0.5025
Std Dev. 0.3225

o ¢
T 1.05
o4
. . : . 0.95 H b . " !
0.6f--t-=-r---tr a1 B i o oo I ¢
0 2 4 6 8 10 12 14 16 18 20 "0 0102030405060.70809 1
X2 Prob(x?)
mmmm= DQM_TT__mkFit-DQM_original-0
e DQM_TT__mkFit-DQM_original-127
wmm— DQM_TT__mkFit-DQM_updated-127
1.8
1.6
1.4
1.2
0.8]
0.6}
L.
1.05|
5 A F
4.5 2 1.8F-
< 1.6F-
4 v E
3.5 Lag-
1.2F
3 E
1=-
2.5] E
0.8F-
2 0.6
0.4F
0.2F
0.5 o GF
1 T
@
09 - 05fF
0. - s oL~
10 1 10 10? go 10 1072
T

1 -1
AR(track, jetg)



	Contents
	Page 1


